= [|=
STOREMORESTORE

Ellicient! Productive Siorage Producis
1-855-786-T667
www.STOREMORESTORE.COM

16/32 Modular Laptop Security / Charging Cabinet and Optional Caster kit
ASSEMBLY INSTRUCTION

REF. QTY. DESCRIPTION REF. QTY. DESCRIPTION
1 1 RIGHT SIDE PANEL H1 13
2 1 BACK PANEL H2 2
3 1 LEFT SIDE PANEL 3 4
4 1
TOP PANEL Ha A
5 1 16 OUTLET POWER STRIP " )
6 1 BOTTOM PANEL
7 17 DIVIDER He 4
8 9 TRAY DIVIDER H7 4 ,
9 1 TRAY H8 4 Tray Support Bracket — — — — — — — — — S
10 1 RIGHT DOOR PANEL H9 10 #4 x 10mm Lg. Phillips Pan Head Screw - — G
1 1 LEFT DOOR PANEL H10 (1Set) Key - — - &%%
Note:

Step 1 through 7 unit assembles

in the upside down position. SN & . IR
Sy i LXK \
3\\*- | e |\
= [ S I\
2 Y x
i ‘ ‘ " / \
I‘x | N / !
1 > i 2
Tle | e
PR ‘ % N \“ :
T > H1 b . 4 - \"‘\
/\. I | 3 S ./ \\\ /|
21, \-i.\";:\ II
AN 3 s 1 ] > :”l :
w ‘ 3 ;xo i l | I
N ? R 1R
N B p.
| | 0.
- ‘| : ..
|
|
Gis. > 11 Zo
) b= -
- L-- l'. a ]
3= | 4
begr |
Top panel o ]
|
- |
Y |
|
<\\H1 ) I J Page 1




Detail A

— —

Bottom panel—

Detail B

STOREMORESTORE

Ellicient! Productive Siorage Producis
1-855-786-7667
www.STOREMORESTORE.COM

Align bottom panel
onto tabs as shown

1

5 0 0 0 O

| 000D

0 00DD0DO0O0DoDDo0DODO0O0O D

0 0o0ob0Dboooooo

oo

NN 2
SN

o < ¢
\)L’)(\C’)
o N O

s i =
i RERREERE

% 1%

A
NN

Y
N

<

V

4
4 ¢

AN
0000
12272
200 0

14

NIRA4 4

H3
I
-— T = ~ J
P ™ - |
7 ~ |
s - e \
; N
’ ‘L
!
— = \
=) 2 VI
~ I
/, |
S {
=) /
\ /
\ /
\ s
N Ve
~ e

Page 2




H7

STOREMORESTORE

Ellicient! Productive Siorage Producis
1-855-786-7667
www.STOREMORESTORE.COM

| Cabinet now facing right side up

Detail view from

the back

- .,

Insert shelf brackets
at desired height

H8

Page 3



- - .
- 1%
4 ~
7/ \
/ 5
/ \
! - \
rs = \
{ 2 B \
i =il H
W
¢ Fac g & :
| . o >
(L"/ F < ‘ /
% !
N S, /
A = /
Y . /!
T = -
~ -
- P b1 =Y

a7
.//'_-
" e ]
&S5 (lise] S e
AL a1 T S~
B2 et .' -
R i 5 ey Ve | R
E 'I; ,'-4/, A / Sy e b
EE ';/f’j'., a’f'-,h’ / "*.I'r, \\
a0 TR 3 1 ¢
el 2 —
H e V ! \
8 “§ / i bt \
o | | -
T \ v
-7 4 | S J
. i i /
~ie 5 ) (
~o_ . (Ho ,
Triem ~ z
e '
>0 -

REMORESTORE

Ellicient! Productive Siorage Producis

1-855-786-7667
www. STOREMORESTORE.COM

Page 4




Optional Handle and caster kit
Model 670049

CONTENTS
REF. | QTY. DESCRIPTION

1 2 Swivel locking caster
2 2 Caster channel
3 2 Rigid caster — — — — — — —
4 1 Handle
H1 16 M8 x 1.25 x 20mm Lg. Phillips Pan Head Screw — 7
H2 20 M8 Loc-k Washer | @ %

7777777 =
H3 4 M8 Plain Washer - — — — @
H4 4 M8 x 1.25 x 16mm Lg. Hex Sccket Head Screw — — g
H5 1 6mmHexKey — — — — — — — —

I A I VI )
AW WA WY

STOREMORESTORE

Efficiont Productive Storago Produots
1-855-T86-T667
www.StoreMoreSTORE.COM

/

POLOLOLV L VLD
A TR Tl Tk WoENIZRN

PR T AT P PPN
FOLVLVLO IO
POPNLO IV IO LS

POLOFOFR IS
SLVPVFOLOIS
FOPVLVLFIFS

B

°
\
°
\
°
\
°
\
°
\
°
\

A T Tk T PP
POFOLOLVL S
FOFVPV L FOLD

POV LR AR IR A
AT AT AL AT AT

POLOLOFLV IO
PR AT A T AR




